100,000s | 10,000s | 1000s

100s

2 3

1

10s

4

O®
OI0,
®

5

six hundred and twenty-three thousand, one hundred and forty-five

6 hundred thousands, 2 ten thousands, 3 thousands, 1 hundred, 4 tens and 5 ones

In order from smadllest to largest

v v
564,406 570,540

OO
OO

5 o 2 4
five point two, four, three
5 ones, 2 tenths, 4 hundredths, 3 thousandths

f'
543,241

Stop and look.
What do you notice?

100,000 less 100,000 more Compare decimals
3 sf'\creps fo;yva;ds 224100 324,100 424 100 2346 > 2343 24565 > 2343 23>22909
om-2is
N S asseans ! [ ¢ ------- I [ ¢ ------- | 5 or more - round up
WV« 0 > 10 _
negative positive 200,000 300,000 400,000 500,000 4 or less - round down
5 or more - round up Round to the nearest tenth.
4 or less - round down +
Round to the nearest ten thousand Round to the nearest hundred thousand 65 ‘3 —> 65 = s
727 — 7 ' ! ¢ 278 *
65, 0000 o b0 643278 — 600,000~~~ Round to the 0
653 — 7 ——
Year 5 Term 1 %
The net of a cube The net of a cuboid has _
has 6 squares 6 rectangles that fold The net of a prism has
that fold to make a cuboid. The net of a pyramid has rectangles and two identical
to make triangles and a polygon polygons that can be folded
a cube. that can be folded to to make a prism.
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make a pyramid.

>
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- o 112134567 ]8]al10] Aprimenumber has exactly 2 factors:
Mulktiplying and dividing by 11121314 15[ 16|17 |18 [19 | 20 2,8,5,7,11,18,17,19..
10, 100 and 1000 21 22|23 24 |25|26|27 |28 |29 30 :
3132 |33 |34 |35 | 36 |37 38 |39 40| A composite number has more than 2
41|42 |43 | 44 | 45 |46 |47 48 |49 |50 factors: 4,6, 8,9, 10, 12..
T T 1 51| 52 | 53 | 54 | 55 | 56 | 57 | 56 | 50 | 60 O000O If T know..
M |HTh | TTh| Th [100s|10s | 1s é 10 | 100 61 | 62 | 63 |64 65|66 | 6768|6970 OOOO \ thenT dlso know..
1 71 |72 |73 |74 |75 |76 |77 |78 | 79 | 80 because...
315 818283 84|85 8687888990 _
(" Eachdit is ten’ 171 31 6 136 91 |92 |93 | 94|95 96 | 97 98 | 99 |100 Factors 0; éi ={ 5’ jéi}
~times greater. move digits 1 column left B @ @ Factors of 21 = {1, 3, 7,21}
113l6lolo 136 of 15 and 21
move digits 3 columns left Multivles of 3 are 3. 6.9
f=1x1=1 A square number is the ples ot Sare 3, o, 4,
2°=2x2=4 result of multtiplying Multiples of 4 are 4, 8’0 £ 3’ ;‘g d 4
2| 447 32=3%x3=9 a number by itself.
Each digit is ten " 2% 4 " 7 247 , 1°=1x1x1=1 A cube number is the resutt of
times smaller, f move digits 1 column right 2°=2x2x2=8  multiplying a whole number by
'2.4-7 _ 3 =3x3%x3=27 itself, then by itself again.
2 14| 7 [move digits 2 columns right

Written methods

63,452 + 19,999
/ ' 2452 - 0999 40,007 - 39,995
Round then adjust Round then adjust Find the difference + ig’%i
between two numbers W
——
1 1 1 r %
10,000s| 1000s| 100s | 10s 1s s @ igS 1008 | 10008 s
OF oF | 0@/00 e 007 _ o
X Jele 0574
O @ q/3
Count on 5 from
39,995 to 40,000, then 7 more 05 648
so the difference between
Add 20,000 then subtract 1 them is 12 + 425624
Take away 1 then add 1 thousandth 68172
+20,000 1 —z ff
| 7B RN P 45748
®A T 63452 83451 5342 T452 1453 2452 4,000 - 26 -37‘;:
1937
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23 x 14 2 4
20 3 X 1~4 U23+-3 3 9423
%@@ 9 Qj 1000s |100s 10s 1s
28 333 2 3 @
00 OOV —— @
OO OOG ®
10 6 2
%88 o 426 X 50 = 426 X 100 = 2
N = 42600 - 2
GOO |  +sed - 21300
000 37 3 8 30 X 99 = 30 X 100 - 80 X 1
OO® o — 3000 - 30
= 2970
22| owres
4 X[/ =" If I know...
4 @@@ IfI know 4 x 7 = 28 then I alsrclot:vnow... @ @
@@@ then I adlso know that 04 x 7 =28 because.. —
@ @ because it is ten times smaller. 2 17
2 4 4|24
20 3 24%x3="7 6ri 5 |30
10 If T know 24 X 3 = 72 X 8 6(3%437
; thenT dlso know 24 x3=72 7 2 :0 :Z
because it is ten times smaller. Z { &S
Year 5 Term3 ¥ J
Congruent shapes are Translate the Reflect Reflect
exactly ’;I;I\Z zfazv;\.e shape y6 A and y6 A e o 1o y6‘ in thel vertical line.
; S| > |
3 4 The image is the same 4 M
2 e T s e distance from the mirror 3 .
: RN y) line as the object. 5 i
*® 0 1 2 3 456 7 8  x 1 > 1 i
0 1 2 3 4 5 X o 1 2 3 4 5°X
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. Decimal fracti Percentage, decimal,
EE—— s racors )
8 4 2 s ¢ &5 | oS | fows S| 100 = 064 =64%
@@@ © 710
3_6
1-8 =007 =7%
1 _ 4 15 ¢ 65 | s | ioos 100
278 @@Qgi 028 = i3
1.,383.5 1 _
@@ 3 1s 16 ¢ | 5608

1 _ 25 _ _

° i@@@d@

~ 241
If there are 2 times as many = £92
equal parts, then there are 2 0241 1000
times as many shaded parts 1 — 02 = 20%
o 8-4 ¥ " g =02 =208 A
8 T TFT know = = 20%
3_49 325 then I also know...
5 15 Year 5 Term 4— % because...

Converting units ISSI ' =W = =
M HTh | TTh Th 1003 103 18 l j% 1%0 jTj(-)o multiplying arr\.\gd dividirtz by M|SSlng W|dth + 136m
10, 100 and 1000 Missing height = h =9 - 4 = 6cm
< redtor, ) 136 Perimeter
move digits 1 place left =q9+7+h+6+4+w
136 = 44cm
1183[6]0(0 move digits 3 places left
T T L
i _ _ o, 2 4 6 8
<Ten times 136 < 25cm = approximately 1 inch Linches ,
smalle_r/) 1¢3]1]6 move digits 1 place right m ° 10 15 20
136 ] —
[ 0 T 1 3|6 move digits 2 places right
2 4 _ .
1m = 100 cm 1km = 1000 m 11 = 1000 ml e =, ¢ 7)) 1kg = approximately 2 pounds
136 x 100 = 1360 136 x 1000 = 13600 13600 - 1000 = 136 o 4 ¢ 8 .
% so 136m = 1360cm so 136km = 13,600m so 13,600ml = 13 6litres A A |, 2P
e G iRy S R
136 x 10 = 136 © a Simalet ’ ply because +1 =1 1 — oXi in E -
so 1360m = 136mm there will be more of them. 50 1360g = 1.36kg itre = approximately 2 pints 5
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One and two sevenths 1 X3 = i_l_ i_{. ab
is the whole 5 5 65 b
One is a part 3_38 = 3
Two sevenths is a part 5 10 How can T ==
subtract 3.7
10
| |
0 1
5
Find a common
denominator. 1 1
8
1x3 -+

Find a common
denominator .

I can subtract
fractions with the
same denominator .

I can subtract
fractions with the

o

8
T can add fractions 11xg3=33
with the same 8 8
denominator.

Year 5 Term b6 %
11_3_ How can I
8 4 subtract 3 ?

4

same denominator.

Add the fractions by finding

a common denominator. 38 _ 6
o

“ 1_6_3
18- 8=

Find a common
denominator.

Or on a number line.

www buzzardpublishing.com
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This obtuse

angle
is 130°

T This acute
LR angle @
R 0770 |S 500

\
o8 v O

An acute angle is less

An obtuse angle is more
than 90°

than 90° and less than 180°

What size is

the reflex The acute . &
angle?

angle is 40° A

\
o8l olt 7

A reflex angle is more
than 180° and less than 360°

The reflex angle is 360° - 40° = 320°

e

som Year 5 Term 6

The sum of the angles at a
point on a straight line is 180°

Acm 60 seconds = 1 minute g
..... so 240 seconds = 4 minutes \¢
..... <I> €I50 1I20 | 2:fo 3:)0 —

4 rows of 6 = 20 squares Area of rectangle = length x width o 1 2 3 4 s 6 7
2 ggcl:rm 60 minutes = 1 hour

3cm

Volume is the amount

0 24 48 % 120
of space a 3D

24 hours = 1 day
so 120 hours = 5 days

so 240 minutes = 4 hours

shape takes up

(0] 1 2 3 4 5 6

Area of the square = 3° \ day?%eeks
— &) 32 L 00 The volume is 7 days = 1 week
=9cm 0 U 7 cubes 35 days =5 weeks x5 ( r1?
% a 9 or 7cm? 35| 5
< Yy i
www buzzardpublishing.com .
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<

cd

The sum of the angles at a
point is 360°

Regular polygons have dll sides equal and
all angles equal

®

Bus timetable
Ashley 0930 | 11560 | 16:15
Barton 10110 | 12:30 | 17:.00
Calford 1062 | 1312 | 1744
Digley 1108 | 1328 | 1802

The 11:50 bus from Ashley takes
1 hour and 22 minutes to reach Calford

(o))
o

N
o

N
o

£
X
£
g~}
Q
O
<
—
2
Q
Q
(=
S
§0)
i)

A

09:00

10:00 11:00 12:00

13:00 14:00

From 11am.to 1p.m. they
travelled 35km
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